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.ez + i = 0 d`eeynd z` exzt .1

ze`eeynd z` lawpe ex(cos y + i sin y) + i = 0 meyxp z = x+ iy xear

ex cos y = 0 (1)

ex sin y + 1 = 0. (2)

.y = π/2 + πk, k = 0,±1,±2, ... lawp (1) d`eeynn
ik raep (2) d`eeynn .x = 0 lawp |ez| = |ex||eiy| = |ex| = ex = 1 e xg`n

.y = 3π/2 + 2πk, k = 0,±1,±2, ...
.z = i(3π/2 + 2πk), k = 0,±1,±2, ... `ed oexztd okl

.2πi zixefgn ez ik e`xd .2

.f(z + T ) = f(z) m` T zixefgn f(z) divwpet ik reci

dletk `ed xg` xefgn lk ik ze`xdl x`yp .ez+2πi = eze2πi = ez ,zn`a
ez+T = ezeT = ezeT0+iT1 = ez if` .T = T0+iT1 xefgn gipp .2πi ly dnly
.T1 = 2πm, m = 0,±1,±2.... e T0 = 0 okle eT0+iT1 = eT0eiT1 = 1 xnelk

.2π zeixefgn sin z e cos z ik e`xd .3

zraep sin z =
∑∞
n=0 z

2n+1/(2n + 1)! e cos z =
∑∞
n=0 z

2n/(2n)! zxcbdn
cos z = (eiz + e−iz)/2 ,okl .eiz = cos z + i sin z xliie` zgqep

ez e xg`ne (eiz + e−iz)/2 = (eiz +1/eiz)/2 zrk .sin z = (eiz − e−iz)/2i e
dnec ote`a .2π zixefgn cos z okle 2π zixefgn eiz ik lawp 2πi zixefgn

.2π zixefgn sin z ik mi`xn
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